5# PART - A
STUDEN ACCOUNTING (Maximum Scores : 40)
Answer all questions from 1 to 4. Each carries 1 score. dx1=4)
1. The Balance Sheet of a not {or profit organization does not include :
(d) Asscls {b) Liabilities
(c} Owner's Fund ¥ {d) Capital Fund
2. Gaining ratio is to be calculated at the time of of a pannet.
%
{a) admission (b)Y retirement /
() death (d) both (b) and (c)

3. Fonning a partnership deed 1s
(a) mandatory Y {t) not mendatory

{t) mandatory in writing {d) None

4. Unrecorded liabilities located on admission of a partner will be
(a1 Debited to Revaluation Afe. (B} Credited wo Revaluation Ade.
(¢} Debited to Capital Afc. T @) Credited to Capital Afc,
Answer all questions from 5 to 8. Each earries 2 scores. 4x2=8)
5.

Maly, a partner withdrew T 1.000 repularly at the beginning of ¢very month. Caleulate
interest on drawings @@ 6% p.a.

6. Complete the following table

1

Partner | OM Ratio | Sacrificing Ratio '| New Ratio |
_ 3 2
Rajan 5 k 35
2 > |
5 23

Radhan [ ) g ‘\
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7'J Axcertnin the smount of stnitonery conswmed during ihe year ended 517 March, 2018,
-/ Stoch of stativiery on 31-03.2017 — T1.200
Steck of stliopery on 31-03-2018 - TL,900
T 1,400
Amaount graid for statiooery during 2017-18 - ¥ 1,300

Creditors Tor stalionery on 31-03-2018

. Creditoes of o tion weee T 21,000, OF which creditors for & 10,000 accepted stock worh
TR0 on Wl setlenent, Remaining creditors were paid ar 10% discount. Caleulate the
'!munm pavuble 1o creditors nd pass Journal Entry at the time of dissolution of firm.

Auswer any 2 questions from 2 1o 11. Ench carries 3 scores. 2x3={

9. fny Filup the following as per hint given ;
Tint 1 Receipts and Payment Ajc. : Cash in hand
Ineame and BExpenditure Ade. ; bt

(I Write any two differences Jbetween Receipts and Payments A, and Income and
Expenditure Adc.

10, In which ratio goodwill is shaved in the following cases ?
(1 Amount of goodwill paid by the new partner,
(i Amount of goodwill paid to the mlf'guing partier

y s .
Alsvowrile any two differences between those ritios,

1. A, Achu and Amimu are partners sharing profits in the ratio of 5 : 4 : 3, Achy retires
and is given T 8000 as goodwill.

(1) C‘mnpmc {he relevant ratio in which goodmll i5 shared by Anu and Ammu.
() Write the Jaurmal Lintry, »
|
:
Answer any 1 qucsﬁm; from 12 to 13, Each carries 4 scores. (Ixd=4

12. A and B are partners in a {inn. During the year 2017, the firm camed a prefit of
T 24,000 before charging the following : :

() Interest on capitals i@ 10% p.a. (pariners L:Iplmls -A- ? 30,000, B - T 25,000).
(i} ’\‘[nnth.ly salary payable'to B ¥ 500.

(itf) Interest on drawings — A 3 300, B 200,
t he | atest Question papers,

Prepare mrta%ﬁﬁot‘@ﬁ@ﬁ@%‘t%‘&y resources.
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r‘jswwn‘aisc the following on dissolution of g firm ;
() Realisation expenses poid T 1,500,
() lovesiments not recotded i e hooks realized € 2,000,
(¢} Creditors for T 10000 apreed 1o accept ol 5% discount.

() Loss on realization amownted o 31,200,

Answer all guestions Trom 14 {u [5. Each carries 5 seores. (2x5=10)

14, A, Band C are partners sharing profits as 2 ¢ 11 2, C retires from the firm. Goodwill of
the firm is based on 3 years purchase of the average prolits of the last 4 years resulls
which were T22.000, 2 28,000, T 15.000 and T 8,000 (loss) respectively.

Compute the value of goodwill and give Journal Eniries in the following cases :
(1) When goodwill appears in the books at T 30,000.
(i1} When poodwill nppears in the books at ¥ 50,000,

15, Following is the Balance Sheet ol o firm where Abhi and Pranav are partners who share
profits in the vatip o3 : 2

Balunce Sheet as on 31-03-2018

Liabilities Amount ]__- Assets Amﬂunﬂ

{ Creditors 20,000 | Cash 12,000
| Bills Pavables : 30,000 | Debtors 20,000

Investment Fluctuation Fund 3,000 | {-) Provision 1,000 19,000

Reserve Fund R ?,i'l}ﬁﬂ(] Stock 22,000

Capitals : Furniture _ 25,000

) '--.:.,Abhi 43,000 : Machinery 40,000

', Pranav 30.000 | 73,000 | Investments 30,000

v ! o 1,48,000 1,45;—1@‘

Fullo';fing transactions took place on di.ssc)luﬁn'n: q_f the firm :
(i Debtors realized 90% of the book value; . .
{ity Abhi took over furniture at T 22,000,

(iliy Creditors were paid T 17.000 in full setilement and stﬂck-}ealized at 10% less the
book value. : ;

(iv) Realisation expenses ¥ 1,000 paid by Pranay.
Prepar: Realisation Account.
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Anpwer any 1 question from 16 to 17, Each carries 8 scores,

(1x8=§

Ihe Receipts and Payments Account of Jubily Club for the year ended 31* December,

208 13 given below

Receipts and Payments Account for (he year ended 31* December, 2018

Reecipty. Amuouni Payments Amount

Palunce bid 12,000 | Rent 3,000

Subseriptions 32000 | Salaries 7,500

Donation for building 25000 | Books 4,000

Sale of old newspapers 1,500 | Furniture 12,000
Sundry receipts 1000 | Investment 30,000 | |

Balince cid 15,000

71,500 71,500

(Mher In-t'm-‘l-mlliun :
(1)

31% December, 2014 3 3,000,

Subscriptions  outstanding as on 31 December, 2017 ¥ 2,000 and on

(2)  Salaries due T 2,500, Rent prepaid T 500.
{3y  On 31¥ December, 2017, the Club had Furniture T 6,000 and Books T 3,000,
(4)  Depreciate Turniture by T 3,000,

Prepare Income and Expenditure Account and Balanee Sheet as on the above date.

The Balance Sheet of Gopika and Deepika sharing profits in proportion of 3/4 and 1/4

iz given below

Balance Shect as on 31" March, 2018

. L_l:%!.hi]itil,'.‘l Amount Assels Amount

Sundry creditors 25,000 | Cash 12.500

General reserve 4,000 | Bills receivables 3,000
Capitals | Sundry debtors 17,000

Gopika 31,000 (=) Prov. 1,000 16,000

Deepika 22,500 53,500 | Stock 15.000

Furniturz 6,000

Buildings 30,000

.| 82500 82,500 |

Radhika is admitted on the above date as per the following terms :
(1) She will bring in T 20,000 for capital and T 8,000 as her share of goodwill for 1/4

share in the profiis. _

(2)  Stock and furniture reduced by 1%,

(3) Provision for doubtful debts to be increased to ¥ 1,500 and creditors unrecorded
o the extent of ¥ 2,000.

(4) Buildings revalucd at ¥ 40,000

Prepare necessary %&%hﬁcb@ﬁt? fhd BMGRL GcPaPers.

tes and study resources.
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) PART-B
ST“UEN‘y ANALYSIS OF FINANCIAL STATEMENTS
(Maximum Scores : 40)
Answer all questions from 1 to 4. Each carries 1 score. (4 xl= 1)

A company issued 10%, 1000 debentures of T 100 at par. Here 10% indicates :
{a) Discount rate (b) Inlerest rate
(¢) Dividend rate (d) None

2. Find the odd one out
(a) Debt-Equity Ratio {b) Proprietary Ratio
(c) Inventory Turnover Ratio  (d) Interest Coverage Ratio

3. Tools of analysis of financial statemenis does not include :
(a) Comparative Staternent (b) Trend Analysis
{c) . Common Size Stalement (d) Income Statement

4. Which of the following is not a non-cash item ?

(a) Depreciation (b} Provision
(c) _Amortization (d) Income Tax
Ans;‘vcr any 3 questions from 5 to 8. Each carries 2 scores. (3x2=16)

5. Write the type of debentures mentioned in the following statements :
(a) Debentures for which the company does not keep any record of debenture holders
(b) Debentures which are redecmable on the winding-up of the company.

6.  Under what heading will the following accounts appear in the Balance Shect of a company 7
(a) Reserves and Surplus
(b) Inventoties

7. Write the impact of the following transactions on cash from operations :
{a) Increase in Debtors
{(b) Decrease in Inventory

8.  Calculate Gross Profit Ratio :
Revenue from operations % 6,50,000
Returns inwan;]s £ 50,000
Cost of revenue from operations ¥ 4,80,000

10
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Answer uny 3 questions from 9 to 12, Each carries 3 scores. Bx3i=9

What are the basic [inancial statements of a company 7 Write any two limitations af it.

Omega Ltd. purchased a building for T 2,20,000. Half of the payment was made in cash
and the balanee by issuc of 12% debentures at a premium of 10%4. Give journal entries.

A company received 20000 applications against 15000 shares offered to the public.
{a) ldentify the type of subscription mentioned in the above.

{(b) What arc T.h:: alternatives available to the company for the allotment of shares in
such a case 7

Classify the following business activities into investing, financing and operating
aclivilics ;

(a) - Sale of fixed assets—"
(b}  Sale of inventories _
{c)  Sale of shares:

(d_) - Pavmenl of dividend
(e} Payment o creditors

(f) '-::;;bividend niceivid

. Aﬁsw'er all questions from 13 to 14. Each cavries 4 scores. (2 X 4 B)

Lefcnn TLad. forfeited 300 shares of T 10 cach for non-payment of allotment monsy. uf
- ¥ 3 per share and call money of T 4 per share. Out of these 250 5harc& were russued
ffor f 000 Uive Journal Entries,

L Ser)
. L]
1 ]

)

Pmparc a cﬂmIJ'!rﬂmc statement of Profit and Loss for the year ending 31% March,
2018. Ratt, c-f income tax was 40%.

s !’arttc"lm 2016-17 | 2017-18

Revenue from operations " 600,000 800,000
et 'll_‘-;;‘. 4

Other incomes™ " © 50,000 ) 1,00,000
Bpeet ok B ailos S0 390000)

Not es and study resources.
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STIII]EN?]

15

Calculate cash from operations,

swer Questions No, 15, which carries 5 scores.

(1x5=2¢

Items 2017 Z018
Balance of Profit and Loss A/c. 20000 30,000
Bills Receivables 18.000 14.000
Provision for Depreciation 30,000 32,000
OQutstanding Rent 4,000 1600
Prepaid Tnsurance 1,200 1,400 |
Goodwill 20,000 16.000 |
Sundry Debtors 18,000 14,000 |

Answer any 1 question from 16 and 17. Each carries 8 scores.

{1x8=8)

Sundaram Lid. issued 50,000 shares of T 10 each pavable as T 3 on appiication, T 4 on
allotment and the balance on first and final call.

App]icaﬁons were received for 70,000 shares and allotmenl was made on pro-rata
basis. Adwaith, hoider of 500 shares failed to pay alioiment and call money. His shares

were later forfeited. Give journal entries,

From the following details

]

|

4
i Revenue ﬁ'UlIEt%]:_l?l‘&ﬁDﬂS I,SU,UﬂU
| Caost of revenue frcrm cperations 1.20,000
Opening stock ' 29.000
Closing stock 31,000
Sundry debtors 16,000
Net fixed assets 1,10,000

Calculate :

(a) Gross profil ratio

(b} Inventory turnover ratio
(c} Fixed assets tumover faﬁq

(d) Debtors turnover ratio
i oo

e
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